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3858 65 817.5 21.18 £ 0.20a 2994 + 2.7a 5,433.3 £ 169.5a
EETIE 3827H 58 837.7 17.99 + 0.21c 2722 £2.0b 3,366.6 £ 139.2¢
48158 56 839.1 18.41 = 0.38b 2449 £ 1.3c 4,400.0 £ 48.7b
3H5H 66 831.1 22.11 £ 0.16a  313.0 £ 23a 5,433.3 £ 286.3a
=/ 29 58 3827H 58 837.7 18.10 £ 0.23b  293.5 + 1.0b 4,066.6 = 169.5¢c
48158 56 839.1 18.01 =+ 0.13b  273.9 + 3.2¢c 4,500.0 = 173.3b
3H5H 77 979.3 18.42 £ 0.14a 2874 £ 4.5a 4,533.3 £ 310.9a
BHZE 3 5% 3827H 67 980.7 16.71 £ 0.38b  281.1 &= 3.5b 3,933.3 £+ 135.8¢c
481508 63 974.4 16.68 =+ 0.26b  274.7 + 3.5¢ 4,400.0 = 50.2b
LSD, s 0.35 4.40 200.0
Mean + SE (N=4). Means within each row followed by the same letter are not significantly different at
5% level by LSD test.
x_  NAREERASHBREEXRESERERITIKZFE
o OEERE  RERE FHiE EB ARBANE
(kgN/ha) (cm) ) (kg/ha) (7T/7T) (TT/ADF)
120 19.19 £ 0.29a 261.0 = 3.7b 4,361.1 £ 121.3ab - -
EE2T5E 160 19.18 £ 0.66a 278.0 = 3.6a 4,266.7 £ 172.7b -0.7 -21.2
200 19.62 £ 0.08a 2774 x 1.6a 4,555.6 £ 1674a 0.7 21.9
120 19.25 + 0.32b 272.1 = 3.1b 44750 £ 1428b - -
=/ 29 58 160 19.73 £ 0.17a 304.1 £ 2.0a 4,680.6 £ 1149a 1.5 46.3
200 19.41 £ 0.22ab 3042 £ 3.7a 4,800.0 £ 100.0a 1.2 36.6
120 17.32 + 0.19a 271.6 £ 3.6¢c 4,111.1 = 185.7b - -
BHZE 3 5% 160 17.07 £ 0.26a 280.1 + 3.4b 4,172.2 = 125.4b 0.4 13.7
200 17.44 £ 0.23a 2914 £ 4.0a 4,597.2 £ 194.0a 1.8 54.7
LSD, s 0.46 5.2 195.2

Mean + SE (N=4). Means within each row followed by the same letter are not significantly different at
5% level by Duncan’s LSD test.
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